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10-2-1

10-2-1

1992

1993

1994

1995

1996

1100
1050

1200
1150

1300
1250

1350
1300

1402
1320

1997
1992

1996

1500

1992

1320

- 1050

~ 1402
=0.89%4

=1320
=666120

- 1100

- 1402

x 0.89%4

1996
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1997

1997 N
=1 500 x 0.894 + 666 120
=14 076 120
1997 1997 1997
=14 076 120 = 15 000 000
=0.9384
v
F
X
Y
1995 1996
I e
_1320  -1300
1402 ~ 1350
=0.3846
F = Y= Vo Xyoog
=1320  —0.3846 x 1402
= 7807908

Yiogr =V Xigg7 + F
=0.3846 x 1500 + 7807908
=5772000 + 7807908
=13579908

Viger =

_ 13579908
~ 1500
=0.9053

1997
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10-2-2

10-2-2
x y X-X x
X Y X-X Y-Y X-X?2 Y-Y
1 2 3 4 5 6 7
1982 1 100 1 050 -170.4 - 164 29 036.16 27 945.60
1983 1200 1150 -70.4 - 64 4956.16 4505.60
1984 1300 1250 29.6 36 876.16 1065 .60
1985 1350 1300 79.6 86 6 336.16 6845.60
1986 1402 1320 131.6 106 17318.56 13949.6
6352 6070 - - 58 523.2 54 312
1270.4 1214 - - - _

1 Qe

2

3

X =1270.4
Y =1214

4 &) @

5 © ®)

6 ® X-X"? ©

7 0) ® X-X Y-Y @)

@ ©) b
_ _
b:%X‘X YoV sam 0,908
i X _ X2 58523.2
i=1
y
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X=1270.4 Y =1214

1997
1996 1 10

4% 6
2%
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Y =
b=0.928
a=Y-bX

a+ bX

=1214-0.928 x1270.4

=35.07
Y=a+bX

y=F+ Vx

F=35.07 V=0.928

1997

Yo7 = F + V997

=35.07+0.928 x 1500

=1427.07
_ Y1991 _ 1427.07 _
997 = 1500 =0.9514

5% 6

1997

6% 3

1995

7%

1



Yok
X=54

I1x2% +4%x4% +6xX5% +6x6% +3xT7% + 1
- 4+6+6+3+1
=5.1%
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10-3-1

10-3-1
%
1480 1428 52 3.51
8760 8370 390 4.45
1250 1125 125 10.00
350 343 7 2.00
11840 11266 574 4.85
1184 1066 118 10.00
13024 12332 692 5.31
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2.
1220 1159 61 5.00
784 744 40 5.10
2050 1927 123 6.00
2
10-3-2
10-3-2
450m®
540m?
m? 67500 1040 3.60 3.60
960
67500/450 x
1040 - 67500
/450 x 960
m? 6750 s 33.75 33.75
m’ 5
m3
m? (10000 0.015 5.25 5.25
350
692 52 390 125 7 118
1
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70% ~ 120%
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O
O
1 - 2 =
X O
O
X g1 3 =
y O
_ - O
2 3 = 0
O
1
1 18t 20t 350 380
2 50m’ 45m’ 44 36
1
10-3-3
10-3-3
4 5 6
1 2 3
1 x 2 1 x 3 4 -5
t 350 18 20 6300 7000 -700
m’ 44 50 45 2200 1980 220
2
10-3-4
10-3-4
4 5 6
1 2 3
1 x 3 2 x 3 4 - 5
t 350 380 20 7000 7600 - 600
m 44 36 45 1980 1620 360
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10-3-5

10-3-5
350 18 6300 380 20 7600 | -1300 | -600 - 700
44 50 2200 36 45 1620 580 360 220
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50%
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3
10
—4-1
10-4-1
1995 1996 1997 1998 1999
1300000 | 1400000 | 1480000 1250000 1380000
% 1995 100 100 107.69 113.85 96.15 106.15
% 100 107.69 105.71 84.46 110.4
3.
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2 1 5000 16128
1128
X X
10-4-2
10-4-2
%
3 100 120 + 20 +20
500 480 -20 -4
0.3 0.28 -0.02 -6.67
15000 16128 + 1128 +7.53
10-4-2
10-4-3
10-4-3
.
100 500 0.30 15000
120 500 0.30 18000 + 3000
120 480 0.30 17280 =720
120 480 0.28 16128 - 1152
X X X X + 1128
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0.02

10-4-3

10-4-3

20

20m’

1152

720

3000

1128
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